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51, A Question i given followed
e
Smmmml-s I and II., ':"Jnﬂidﬂ[' thﬂ &Eﬂtﬂ.ﬂn

and the Stalements and mark .
79 s g the correct

Huﬂﬂiﬂﬂ : What are the natoral numbers
xand y ¥ I T

stutement-1 1 =y iz odd,

Statement-II  xy = 180,

Which one of the fallowing is correct in

respect of the above Question
atatements T o

i) 'l'ha Chuestion can be answered by using
one of the Statements alone, bat cannot

be answeorad using the other Statement
alone.

The @Question can be answered i
either Statement alone. : i

(e} The GQuestion can be answered by using

.bnl;h the Statements together, but
cannot  be —answered  using either
Statement alone.

idi The Queal:iun cannot be answered even
by using both the Statements together.
A Guestion is given followed by

Eﬂ_ﬂ__:?ﬂ:l.ﬁ Statements and mark the correct

Question : If the @atidpof two natural
numbers 18{@Y3T) then what
are the two numbers :

Statement-I : HCF of the numbers i& 4.

_E{htk.maﬂt-ﬂ - LOM of the numhersﬁﬁﬂﬁ.
o Wh'ij:h one of the following is correct in
'ﬁ_{!ﬁezt of the above Question and the
Statements 7
w  The Question can be answered by using
~ ope of the Siatements alone, but
cannot  be answered using the other
Statement alone.
" {b) The Question can be answered by using
. gither Statement alone.
(c) " The Question can be answered by using
o both the Statements together, but
cannot  be answered using either
Statement alone.
(d) The Question cannat be answered even
" by using both the Statements together.

-

PART-B

{@A Question is  given ‘*ullnwed by two

o eiaternents I and II. Consider the Queaﬁ-:m[i

o b
5-. 1, =
..—:"_'-_'_F. -i
Statements 1 and 11, Consider the Cuestion
and: the Statements and mark thie correct

(rpiton,
Guestion &

Sratement-I :

What iz the digit in unit place

of a 4-digit number 7

The sum of the digits of the

pumber 18 34,

Siytement-IT: If digits in the unit place amcl
thousandth place are
intere . the mnumber
premains the same.

Which one of the following i correct in

respect of the above Question and  the

Btatements 7

{a} ‘The Question can be snswered by i

ome of the Statements alone, but
cannot be answered using the ather
Statement alone.

by  The Question can be answered by using

gither Statement alone.

iy 'The Question can be answered by using

hoth  the Statements together, but
canmot  be  answered  asing either
Siatement glone.
(d) The Question cannot be answered even
by using both the Statements tongether.
followed by two

@ A Question i8 %'wm )
Jrﬂtateﬁnents I and 11, Consider the Queston

and the Statements and mark the correct
optiom.
A body falls from rest on a planet. Its distance
from the starting poimt wares #s square of
time of descent.
Question : How long will it take to fall
throuph a distance of 80 m 7
Statement-1: Ti takes 10 seconds fo fall
_ through a distance of 500 m.
Statement-11: It es b seconds to fall
through a distance of 125 m-
Which one of the following is correct i
of the above Question and the
Statementa 7
(g} The Question can be answered by using
one of the Statements alone, but
cannot be answered using the other
Statement alone.
(by The Question can be anawered by using
either Statement alone.
¢y The Question can be answered by using
both  the Statements topether, but
cannot  be answered using either
Statement alome,

(dy The Question cannot be answered even
by using both the Statements together.

(13-B)




































